





0.7km
29.5m
3
80km/h
4
57
85

1

39,700 7/

I_ 0. 500
iMm 12 B i, 20

HW-I

| Telal el e

B 000
1 8m

I Hﬂ_i ‘

{ cBe aB |

o

g

(o




b

57 57
19 19
19 19
20 3 29
21 5

H42




105
:l.ll l i g
Ijlt a;_.**l
[ 8 A 10.8km
& %ﬁﬁ" 7
-~ EERE |7 s
", N 4 I \{, !
| I‘ff’# : % HEHAER
Y :
ﬁﬂh: L2 / (2WHE)
| v A 45.7ha 24
a ®) /1 5 P 9.6na 5 17
/ = o I &) JwmaEm 26.1ha 7 2
@) X © 22.2ha 7 18
-" I' | \ 4.0ha 9 17
4 I I I" 48.2ha 11 24
E g% %g' E I- %’ \ 418ha 19 33
W #f lmlﬂ fl— Gl g
—E ;_ !
N moa
@ B | amrtEEess 3105 EREY (4HR)




42

21
19
50
17
42




192 28 7.9 227
103 35 106
227

106




it
AEAENR
EEE - S5ARREs
BN - 1075 A
10~ 30 J5 A MM/ B + im
I 0~ RARRE-m
Fat.,|
REEENE
N -~ CRAEREm

B 5~ 10 FARME S s
10 = 20 KA/ -l
N 20~ FAMASE - im

L=6.6km L=6.6km
/ \ o D \
994 / 150.0
99.4 | "
100.0
500
24.5
0.0

19
21
5 6 7




6.6km

L

6.6km

L=

I

2
92]
M
L
[o0)
—
a
o [{e
[{e
LI o
£ 0 o o o o ©
T O © © o o o
Em ¥ ® & 4
) J ) J
90 80e ®
‘O. ) ) J
|
|
| AL L
-llllllllll‘ " m
I : :
-IIIIIIIIE" -llllllllﬁ a
| ot
| ‘-
.
e ———
e ]
] | |
) ) ) ) 2’ Y

I

[ 30km/h
1 20km/h




150

100

50

L=6.6km
‘ O O
| |
96
16 19
20

A 250,

|

4]t ]
alble

18 m

20,500
2.
4
e

1

a8

—




7))

1[

6,000
5,000
4,000
3,000
2,000
1,000

5,110

3,760

(7))
20,000

15,000

10,000

5,000

O

15,790

(7)) O O
2,000
1,718

1,500 1,236
1,000

500

0
20 2
21 5 6

10



CO2 NOX
/) ‘ O O (7)) ‘ O 0
20.0 50.0
43.1
30.0
10.0 —
20.0
5.0 —
10.0

0.0 0.0

CO2, NOx, SPMEEH BEONHEM
THREZEER ~BEORXEREA [L=66km]

30 ¢

3.0

20 —

10

0.0

11



H21.5

12



H10

—————————————————————————————————————————————————————————————————————————————————————————————

_____________________________________________________________________________________________

284 41 12 337
144 4.9 149

337

19

13



